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THM 348 Service Operations Management
Midterm Exam Answer Sheet
1. “Goods are not distribution mechanisms for service provision.” Do you agree with this statement? Why? Why not? (2 Points)
No I don’t agree with this statement. In fact, goods (both durable and nondurable) derive their value through use (i.e. via the service they provide).

2. Give 2 examples illustrating how service operations firms manage to smooth demand by using price incentives. (2 Points)
First Example: Giving telephone discounts for evening calls.
Second Example: Giving price discounts to customers coming in less demanded business hours (ex. Happy hour)
Third Example: Giving price discounts for early reservations in hotels and for airline tickets.

3. Briefly explain how “Minimal opportunities of economies of scale” is a challenge faced by service operations firms? How can those very firms overcome this problem? (2 Points)
The necessity of physical travel for many services limits the market area and results in small-scale outlets that cannot enjoy economies of scale (ex. Purchase in bulks as to decrease the average cost). Franchise firms, however, can realize some economies of scale by sharing purchasing and advertising costs; in other instances, using the Internet can be a substitute for physical travel (ex. Ordering from Sepet.com).

4. What are some of the challenges faced by service operation managers when introducing new technology? (2 Points)
Some of the challenges faced by service operation managers when introducing new technology can be as follows:

1. Level of readiness of the customer for the new technology.

2. Extent of and appropriate technology to implement.

3. The pace of implementation of the new technology.

4. Support needed to support customers while trying the new technology.

5. Inter-personal skills and technology readiness of employees for delivering the new technology.

5. What are some of the capabilities (at least 2) ensured through Customer Relationship Management (CRM) System? (2 Points)
Some capabilities ensured through Customer Relationship Management can be as follows:

· Enable marketing departments to identify and target their best customers, manage marketing campaigns, and generate quality leads for the sales team.

· Allow the formation of individualized relationships with customers, in order to improve customer satisfaction and maximize profits by identifying the most profitable customers and providing them with the highest level of service.
· Provide employees with the information and processes necessary to know their customers; understand and identify customer needs, and effectively build relationships among the company, its customer base, and distribution partners.

· Assist the organization to improve sales management by optimizing information shared by multiple employees, prepare metrics on sales effectiveness, and monitor social media sites as a vehicle for crowd-sourcing solutions to client-support problems.

6. Briefly explain GAP 3 in service quality. What are the reasons of this very gap? (2 Points)

GAP 3 (conformance gap) in service quality occurs because actual delivery of the service does not meet the specifications set by management. The reasons of this very gap could be:
· Lack of teamwork.

· Poor employee selection.

· Inadequate training.

· Inappropriate job design.

Good Luck
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